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1 From a histrogram we can find

(1) Airthmetic mean (2) Median

(3) Mode (4) Harmonic mean
g B E e @ s R W w3

(1) wH=Y A (2) witEenr

() EEw @ e T

2 In a set of 6 observations 8, 12, 40, 15, 35, 25 the value of median is

1) 20 2) 15
3) 40 (4) None of the above
newlf B SO 8, 12, 40, 15, 35, 25 F Wiw @ WA 2

(1) 20 2 15

(3) 40 @) ST W ¥ wis W e

3 The ideal measure of central tendency is
(1) Geometric mean
(2) Mode
(3) Arithmetic mean
(4) Median

T Ygha &1 eyl U ¥
(1) IR e

(2) EaB

(3) AT HIEg

(4) Wit

4 Statistics deals with

(1) Qualitative data (2) Quantitative data

3) (1) and (2) both (4) None of (1) and (2)

witerel R & Iwm w5 @

(1) TP GHD (2) ¥WEHR B

() (1) &R (2) @ () 3T (2) & A q B T
OP19 Al 2 (MG tContd..
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5  Which measure of central tendency is least affected by sampling fluctuations ?

(1) Median (2) Mode

(3) Arithmetic mean (4) Harmonic mean

Rrer A ¥ B BT gt & AT YRR JoomEe ¥ FH ¥ B geed
BT ?

(1) it (2) dgwd

(3) WHrY Wi (4) TOHD HIEA

6 The mode is defined as
(1) Highest frequency
(2) Largest observation
(3) The observation with largest frequency
(4) None of the above

qga@ H ureniE fEn SR 3
(1) wailtes STesa

(2) waifas Y&

G) e Trgd SRERA wEbivE ©
@ sudEd § ¥ B

7 A class of 24 boys and 16 girls is given a test in statistics, the mean marks

obtained Y Ways/ard [eifts réspectively| are-15Cand = 0; The e of the
whole class 1s

(1) 125 ) 13.0

(G) 135 @) 140

24mﬂ®16waﬁaﬁzﬁmaﬂwwﬁmﬂv&wﬁmw1msﬁwaﬁ
¥ uTATE BT G W W G A 15 T 10 ¥ @ qft hen & e
(1) 125 (2) 13.0
(G) 135 (4) 14.0

8  The geometric mean of 40, 50 and x is 10, then the value of x is :

(1 1 2 2
1
Gy 4 | @ 3
A Dol 40, 50 T x @ IO Wi 10 ¥ @ x &1 AW W -
(1 1 2 2
1
3) 4 @ 3
OP19_A] A AN (Contd...
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9  The weighted arithmetic mean of first # natural numbers, with weight being
the corresponding number, is

(1) % () (n+1) 2) % (2n+1)

3) %(n+1) @ %n(n-i-l) @n+1

e p wlie demel & Wi e, wahp s YR S (@) 'R
g, B

N % (n) (n.+ ) _ (2) % (2n+1)

(3) % (n+1) @) % n(n+1) 2n+1)

10 Which of the following is an objective of classification ?
(1) To condense and simplify the data
(2) To bring simillarities and dissimillerties
{(3) To help comparison
(4) All the above

ffofag o & il &1 R BN 7

(VY eitael B Ao T FEY A

(2) st W TIMAR we el # wela won
(3) gE ¥ wEms o

(4) SoE w

11 If F(x) 1s the cumulative distribution of a random variable then for which
. 3
value of x F(x) will be n ?
(1) First quartile (2) Second quartile
(3) Third quartile (4) Mean
qfE F(x) st agfes o x & dol de7 Bea A Beg x % AW

% fog F(x)f%?

() W aguw @ e ugew
(3) O =gde @) ==
OP19_A] - 4 [INIGIRIAT (Contd...
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12 The observations of height of 25 students of Class V are taken. If the height
of a 6 feet teacher is also included then which measure of central tendency
is most affected ? -

(1) Arithmetic mean (2) Geometric mean

(3) Harmonic mean (4) Median

e e B 25w B Sug B dew fel o ¥ R vl 6 ¥
T A oh o B FaR N bW & @ S @ e ggra
& ae ¥ ¥ B WY GEd SR Wi g ?

(1) T =X W (2) UK A

() TS WA (4) wftget

13 The arithematic mean of two numbers is 5 and their geometric mean is
4. Then the numbers are
(1 69
@ 6, 2)

B3y @44
(4) None of the above
& Heel B TR HIET 5 UG enmy wiei 4 8@ w detd ¥ o
1 64
@ 6, 2)
G) @49
(@) sudw ¥ & wg N @
14 Which of the graphical method is used to find mode ?
(1) Pie diagram (2) Frequency polygen
(3) Ogive curve (4) All the above
Wﬁwaﬂ%%ﬁﬁﬁﬁw—@r%@ﬁﬁfﬁwﬁﬁﬁaﬁ%?
(1 R R (2) IRERA TGS
(3) dRW (4) sl W
OP19_Al > RABATRI (Contd.-..
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From a less than Ogive curve which of the following can be determined ?

(1) First quartile (2) Second quartile

(3) Third quartile (4) All the above

HAAK A0 6 ¥ ¥R Rew Freatwied @1 A s @Y g@ed €7
() vaq ages @ f=hg agds

) T wgds @) S wd

The relative frequencies in a histrogram are proportional to
(1) Height of the rectangle (2) Width of the rectangle
(3) The diagonal of the rectangle (4) All the above

s o R ol onifée sreana Reee ol eelt ?
(1) ommal w FOE F (2) Sl B AR
(3) omgal & fawet % (@) IulEs g

When the observations are equal the relation between AM, GM and
HM is

(1) AM=GM=HM

(@) AM <GM < HM

GYVV s Gh M

4) AM <HM <GM

i W WEOT UH 99 ¥ O 9L AL, ON. WL W 5. Al BT e R
(1) 9. WM. = o0 A = % .

(2) W AL < YON. WL < F O

(3) . WM. > TON. W > & AL

(4) 9. W < % UL < IEN. T

18  The mean deviation of observations is minimum when they are taken from

(1) Zero (2) Mean

(3) Median (4) Mode

Tavl &1 AW fEes gaan em Ak Reew woaw wmn o

1 =@ (2) 4.

(3) it @) G

OP19_Al 6 [N tcontd...
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19 Standard deviation is minimum if deviations are taken from :

(1) Zero - (2) Mean
(3) Median (4) Mode
s frEed gEad o A Reew @ o\ T d
1 I (2) wHX AT
(3) wIE® @) EAD

20 Which of the following measures of dispersion depends on all the
observations ? '

(1) Standard deviation (2) Mean deviation

(3) Coefficient of variation (4) All the above

frer wRdT WO E- Wy weE dEen ) feR s v o7
(1) uFs Ree= @) = fraes

(3) Trage PIe (@) sulE w4

21 For any discreate distribution the standard deviation is
(1) Not less than mean deviation from mean
(2) Less than mean deviation from median
(3) Equal to mean deviation from mean
(4) Not less than trean’ deviation from' zero
fpdl orEad €& % ANMG fOEEE AW
(1) e A W Rrews % WM ¥ B T8 8
(Z)W&am%wﬁmwﬁam%am%w@m
(3) e § 9N Wied ReeE % AW F eER wh
@) sﬁﬁrnﬁmmﬁaﬁmé‘ﬁnﬁ@rwﬁ@m

22 Which measure of location will be suitable to compare sale of shirts with
different collar size ?

(1) Mean (2) Mode

(3) Median ' (4) None of the above

i weRl % AT 6 Wﬂﬁﬁﬁﬁﬁ@ﬂﬁ%%ﬁﬁ
yaft @ B-W AW SwgE g

(1) G« WA (2) dgA®
(3) witas (@) s § &g W T
OP19_Al o 7 | NTRTIRENERNY iContd...
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If two independent series of observations are to be compared, which is

most suitable measure from the following ?

(1) Standard deviation (2) Mean deviation

(3) Range (4) Coeflicient of variation

aft daell B & e A W e B 3 Prefed ¥ ¥ e
a9 eifyeam SugeE T ? |

(1) wFw Raes 2) e e

(3) wER @) Fererer e

The coefficient of vartation has

(1) No unit

(2) Same as unit of mean of observations
(3) Same as unit of observations

{4) Same as unit of variance of observation
oo Tunies @t

(1) ®E§ 3% @& e ¥

'(2) IHE AT W IBIE B GEE SRl B

(3) ' RSB Wl TR B G BT 8
@ wHa & T @ e & e s E)

The width of class interval depends on

(1) The range of data

(2) The number of class interval to be made
{3) The type of data

(4) All the above

T B eE R E ¥ o
(1) ¥H&H & TER Y
(2) fomm ot oroOw TE R, 9E W
(3) WHH F TIR W
(4) SUE W W

OFd_ AL - 3 IR tconed...
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26  While classifying the data into different class intervals we should take care of
(1) Number of class intérvals should neither be large nor small
(2) No open ended interval as far as possible
(3) Characteristic of the variable

(4) All the above

Wi & TiE ¥ TN 39 96 @l @ Y@ a6
(1)mﬁa¥rﬁwmﬁmﬁmm

@) @0 % o ga

@) =X @ fadrearei

(4) SudE @l

97  To make continuous class interval of a discreate data

1
(1) We subtract 2 from upper limit

(2) We subtract — from lower limit

M| =

1
(3) We subtract 5 from lower limit and add half to upper limit

1
(4) We subtract 2 from upper limit and add half to lower limit

IGTS ghE! B GiEEl @ gad sH 6 fad w|

M aﬁﬁmﬂ@nmﬁﬁ%aaﬂ%
@) aﬁa%ﬁaﬁﬁxhqﬁﬁ@r%uaﬁ%
3 aﬁaﬁﬁaﬁrﬁmﬁﬁ%%m%amm@qmﬁ%ﬁgﬁ%

@yt Pl o A 5 s ¥ e sl e @ R b

OP19_A] ? [NCEATHINRINY tconed...
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28 Whether classification is done first or tabulation ?

(1) Classification follows tabulation
(2) Tabulation follows classification
(3) Both are done simulteneously

(4) None of the above

THHOT TEA BT T b WKW ¢
(1) i@, qreles % 9) ox @
(2) WG, FHOT & I8 AW 3
(3) TAl um "Wy R W ¥

4) S ¥ ®y A T

29 The mean of a series of observations is 10, its coefficient of variation is
40%. Then the value of standard deviation is :

(1 4 (2) 8
3y 12 (4) 10

iy gHm! ® wh 9ol @1 Wed 10 9 Sud faever uie 40% ¥ af
IGE TG Rraws e

1 4 2) 3
Gy 12 @ 10

30 Which of the following measures is not based on all observations ?

(1) Mean deviation | (2) Standard deviation

(3) Range - (4) Al the above
frafafas & ¥ sF-@ 70 e @R 9 ol @ s ?
(1) we frae @) wFH e

(3) WX (4) Suled ot

OP19_Al 10 [AENIRMR (Contd.-
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31 If two numbers have AM and HM as 10 and 5 respectively then their

GM 1is :
10 10%5
W = ) 5
5
G 1 @  J10x5

& g @1 SRR Ud ECE W HEet 10 Td 5 ¥ @ SEe IO
E:17: L 1

10 10x5
1 = (2) >

5
3 10 @ Jioxs

32 Sum of deviations from mean of a series of observations is
(1) Zero (2) Minimum
(3) Maximum i4) | | Mone oftheabove
s A0 % wEm ¥ oud W § feww @ am e ¥ o
(1) o ) =T
(3) aftresad (4) wwied ¥ ¥ FE &

33  Which of the following is not a two dimensional diagram ?

(1) Square diagram (2) Rectangular diagram
(3) Pie diagram (4) Bar diagram
P § ¥ B S-omm aEn R T ¥
(1) = fax (2) owE B
3) W R @) wgten o
OP19_A] It ~ (WGERMRAMY (Conta...
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34 If the standard deviation of variable X is ¢ then the standard deviation of
Y =8-3X is
(1) 3¢ 2) -3¢
@) 9¢ (4) 6o
TfE fordt T X %1 s feed 6 ¥ @ Yy =8-3X @1 9% R
1 30 2) 3o
(B) 9o 4 6o
35  The class frequency (off), in terms of class frequency of positive attributes is
(1) N-(4H-(B) 2 N-(A)-(B)-(458)
() N-(4B) @ N-(A)-(B)+(48)
Tt {af) @ e, Wﬂiﬁgﬂﬁzﬁrmﬁ&rﬁﬁﬁamwaﬂﬂ%?
1y N-(DH-(B) (2) N-(4H)-(B)-(4B)
(B) N-(4B) (4 N-(4)-(B)+(4B)
36 Choose from the following the correct criterion for two aftributes 4 and
B to be independent.
(1) (4B)=(4)-(B) @ (4B)=0
A) (B
(3) (AB)=(—)N£“2 (4 (4B)=(op)
P ¥ A, @ Tl ¥ ww oY @l wed w g AR
(1) (4B)=(4)-(B) 2y (4B)=0
A) (B
@ @p=20 @ (4B)=(p)
OP19_A] ' 12 [UEELINRIN Y 1Contd...
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Given N =1000, (4)=600, (B)=450 and (4B)=270 then aitribute 4

and B are

(1) Independent - (2) Negatively associated

(3) Positively associated (4) Correlated

af N =1000, (4)=600, (B)=450 ofX (4B)=270 & Toent AT :
(1) A (2) TTHE wFER

(3) T FEEid (4) vEwErua

38 Tor n attributes the number of ultimate class frequencies is
(1 3" @ o7
G) 2n @) 3n
n oERy % fud W @ ongfa @ dem N
Iy 3" 2) o7
() 2n (4) 3n
39  For testing independence of mx» contingency table the degrees of freedom
of a chisquare will be
(1) mxn 2 (m-1xn
(3) (m-Dx(»-1) @ mx@-1)
UE mxn Waﬁﬁﬁawﬁﬁmqﬁm%@méaﬁa&-
wa Bl G e 2|
(1) mxn @  (m-D)xn
3y (m-Dx@-1) (4 mx(n-1)
o194 13 A (Conea-
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40 "From the following quartiles obtained by graphical method () =30,

(0, =38 and (3 =70. The value of quartile deviation coefficient is
(1) 04 (2) 03

(3) 06 (4) 08

Tart Ry o Fr= ogdsr @ v g Q) =30, 0,=38, ;=70 T @
ggde e i @k ?

(1) 0.4 (2) 03

(3) 0.6 (4) 0.3

41 Diagram obtained by plotting (x;, y;); i=12,...,n is called

(1) Bar diagram (2) Scatter diagram

(3) Pie - diagram (4) Histrogram

(¢, ¥), i=12,...n & Jifhd ®W ¥ W foy 99w I® wedRm
(1) R = (2) Taa =

(¢) TR @ g o

42  Which is the positional average 7

(1) , . Mean (2), Median

(3) Harmonic mean (4) Geometric mean
1 & ¥ o-w Rafy o 3 7

(1) gHEw=R " (2) wiAH

(3) TUHE HEA @) iR T

43  If you are told that a certain group of observations has mean 5 and variance
zero, then which is the correct statement ?

(1) There is mistake in calculation

(2) Each observation equals to 5

(3) There is only one observation in the group

(4) There is no observation in the group

qfE el wel Wy 6 Redl wgE % YeOR &1 AT 5 U WSOl I §
@ B HET T 7

(1) 7ot ¥ T ® (2) T UG B AF 5 F IEL T
G) T ¥ um & dgwm 2 @ wE ¥ uw N v T ¥
OFP19_A] 14 RRI (Contd...
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Which of the following is not a stable measure ?

(1) Standard deviation (2) Coefficient of variation
(3) Mean deviation (4) Range

fraffas § ¥ Ao W0 SR ¥ 7

(1) e e (2) T IR

() we Reed 4) TR

Attributes are measured by using :

(1) Counts (2) Measurements by some scale
(3) (1) and (2) (8) Neither (1) nor (2)

sl @ RRW WHIT WA SO ¥ 7

(1) O B @) FF ME F o W

3) (1) &R (2) I} A @ )R (@ & & A

Vate's correction for countinuety of data is applied in
(1) rxé/ gontingeney dgble (211 2 ko contingency- table
(3) ,x2 contingency table (4) 2x2 contingency table

ﬁmwﬁaﬁmﬁwmaﬁeﬂﬁﬂwﬁ%ﬁﬁlﬁ,mﬁaﬁw%
T fopem swam ¥

(1) rxc STET ARON () 2xc STET AW

(3) rx2 SEET "W (4) 22 ST WO
47 The combination AB attribute is known as class of

(1) First order class (2) Second order class

(3) Zero order class (4) None of the above

@gzmAngﬁa%ﬁwa?rﬁfzmaﬁwm% ?

(1) wem B @ fdw et

(3) T Wi @ wew ¥ ¥ @Y
OP19_Al 15 VRMIATENARGY [Coned...
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The frequency of a class can always be expressed as sum of frequencies of
(1) Lower order class (2) Higher order class

(3) Zero order class (4) None of the above

TRl = @t sngfa w TR o AifE % gty & A ¥ <@ o1 gwa 3
(1) fe st =t (2) o Wie

() = Wi =t (4) ST ¥ ¥ B T

Given the information that {(AB)=76, (4B)=98, (cf) =228 and N =300

then we

(1) Data is not sufficient to draw conclusion

(2) Data is consistent

(3) Data i1s inconsistent

(4) None of the above

N T I b IMYUR W (4B) =76, (AB)=98, (¢P)=228 W& N =300
Ta@t

(1) 3T e 9 @5 ff wiw folg T § e
(2) Vg ae R e ama) ¥

@) Prly a7 ¥ 5 wHe e ¥

@) vuge ¥ ¥ ®E

There are two attributes 4 and B. If (0f)< % then these two
atiributes are

(1) Independent (2) Positively associated

(3) Negatively associated (4) No conclusion can be drawn

AR B & o 8, R @H< DO G a o

(1) w=aH 3 ' 2) e ggad ¥
(3) FOmeTE TEAE ¥ @ a3 N frfw & W s
OP19_A] ' .. 16 [INAAGNERIN [Contd...
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(4B) _(op) (4B) _ (aB)

O W@ @ @@

3) ((ijl< LE‘)f—)) (4) None of the above
(4B) _ (4B)
® @ "
(4B) _(oB) (48) _(oB)

O @ @ @ @@

(3) (fj)<%?—)) @) SRE ¥ ¥ @ off

52 Many professional schools require applicant to take a standarised test.
Suppose\/1000 \stadents wviie; the test amlyow findothat your iarks is 63
{out of 100) with 73" percentile this means.

(1) at least 73% students got 63 or better
(2) at least 270 students got 73 or better
(3) at least 270 students got 63 or better

(4) at least 27% student got 73 or worse

wF arEitE e O ¥ Re B UE AWE Thee A W 1000 e
¥ e €1 9o oA 63 9 (100 H ) ABT 73% WA9TE (percentile)
W ¥ @ zuw vaed ¥ 6

(1) 7 ¥ B 73% BEt @ 63 A Iad sfum Pl
@) @ A FA 270 wEN @ 73 W sl o P
(3) &9 § HH 270 BEY @ 63 U IGY o P
@) F ¥ @W 270 wHE @ 73 W wwd w A

OF19_Al 17 TR 1Contd..-
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Last year a small statistical consulting company paid annually each of 5
statistical assistants Rs. 22,000, two statistical analysts Rs. 50,000 each
and a sentor statistician Rs. 2,70,000/-. The number of employees earning
less than mean salary are

(n 2 2 3

(3 5 @ 7

T TRl |l Wikl IaRmr &= o oy iRl o € wae 5 giferesr
aEael | 22,000, U 2 Hiteas! Sty @ ®. 50,000 Yl® @ aur
fafire wifma oitmrl @& . 2,70,000 whed & A o Reewr wdefar
B W ¥ ww e

1 2 | @ 3

3) 35 @ 7

Second decile divides the data in the ratio

(1 1:2 @) 11

3) 1.4 4 21

T TWE (decile) wdl B T ogum o Rl e ¥ 2

(1) 1.2 2 11

(3) 1.4 4 21

Men tend to marry women who are slighty younger than themselves.

Suppose every man marries a woman exactly 0.5 year younger than him,
which of the following is correct ?

(1) The correlation coefficient between their ages is -0.5
(2) The correlation coefficient between their ages is +0.5
(3) The correlation coefficient between their ages is 1.0

(4) The correlation coefficient between their ages is -1.0

sty ST 3T ¥ WA SH W Afsael § e e arar § oAk
o o s 76 9% el sied ¥ 0.5 9 %9 S99 ARl ¥ e
& ¢ oAl P o8 s 9w )

(1) sE=Y TUl®, QA @ I % s o - 0.5
(2) wEE=Y TUH, Q1 B 9Y & A PO + 0.5
(3) wE@ww TUIH, T B SF & S W + 1.0
(@) wEwY Tolk, I B TH b NG G - 1.0

OP15_Al 18 [ENDEANY (Contd...
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56 The 50t percentile of a data is same as its :
(1) mean ' (2) median
(3) mode (4) none of the above
wH HE B 50% uliswe (percentile) BRI SES
(1) =R A (2) e
() 9EwH @) e ¥ ¥ @y
* (4)(B) - .
57  Iftwo attributes A and B are such that (4B) > N then two attributes are
(1) independent . (2) positively associated
(3) negatively associated (4) none of the above
(4)(3) -
o @ Tl 5@ we & ¥ T5 (48)> ~ @ A oTERt
(1) @@ad 3 () HETh WEAE €
() FNHH WEAH ¥ (@) wolwa W ¥ H T
5§  Given the following 2x2 contingency table for two aitributes A and B
4, le, | Total
B |a |[b |ath
B ¢ d c+d then Yule's coefficient of association will be
Total | a+c |d+c |n
(1) O=(ab-cd)[(ab+cd) @) Q=(ac—bd)[(ac+bd)
(3) Q:(ad—bc)/(ac+bd) &) Q=(ad+bc)/(ad~bc)
A o Total
B a b a+b
s B g2 2x2 omEn el S ¢ d |c+d W yw wedwEdr
Total {a+c |d+c\n
NG R U
(1) Q=(ab—cd)/(ab+cd) @  0=(ac—bd)f(ac+bd)
3) O={(ad-bc)/{ac+bd) (4 ©O=(ad+bc)/(ad —be)
OP19_Al S [MITIIMANN (Contd.--.
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59 In the case of two attributes it class frequency (4B) is zero then O, Yulés
~ coefficient of association is :

n 1 2) -1

3) © (4) any value between 0 and 1
Aty & quaEl & = T gt (4B) = 0 A & O g W weadd i ¥
M 1 2y -1

3y 0 (4 = & T S 99 B O 9w

60 Formula for coefficient of colligation between two attributes 4 and B
is (with usual notation)

, [@B)(B)) /[, _ [faBY(4P)
M {1 (AB)(aﬁ)]/ (1 (AB)(aﬁ)J

(. (aB)(AmJ /[1 M]
@ |7V (4B)(aB) V(4B)(af)
( (Aﬁ)(aﬁ)) /’ (AB)(aﬁ)]
i— 1+

® " B)(eB) }/ T (4B)(ap)

r

W AT SN | £ i
] (4B} 1_@,)_)(043,
@ " ()as) )/ | (5)(am))

qor Bt #, & M 4w B % A wsalfar i ¥

(e:B)(4B) ) (0B)(4P) |
® (“ (AB)(am/ [’ AB) 5) )

{ 3
(@B)(4P)
@ |7 (AB)(am,/ [“’

(1 @B)eB)) /[, (4B)(eB))

@ " (4B)(ap) J,/ (1 (4B)(af) }

(1, (48)(aB)) Jf,_(4B)(oh))

@ ! (AB)(am/ (‘ (4B){af))
OP19_] - o IIHIE [Cont...
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61 Graphical method of interpolation :
(1) always accurate (2) sometime very accurate
(3) never accurate (4) none of the above
Y@ eraeE fafy
(1) =g uRygs 2 2) »W B afa WMy=E ¥
G) @ N wWRys T ¥ @) sRw ¥ ¥ FE W T
62  Graphical method can be used for :
(1) interpolation only
(2) extrapolation only
(3) interpolation and extrapolation both
(4) none of the above
Wa oy v § W S ¥
(1) Tk sradsw A
(2) % iy o
(3) Sradyd Td aifgdyE qn A
(4) SUF F B T
63 Interpolation and extrapolation both are in same in the sense that
(1) both determine most likely estimate
(2) Dboth result in same value
(3) both are complementry of each other
(4) all the above
orded wd e IR & U weE ¥ TH d T Hiis
(1) @i & wed ol wived siwes 3§
2) ¥ & T A A A
@) i Th TE & ReW
(4) oIE g
OP19_A) 21 I (Conta--
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64 Interpolation is not affected by
(1) Violent fluctuations (2) irregular fluctuation
(3) unforseen event (4) none of the above
L CH IR TR I IR G
(1) va& J=EEd () ofsfm S=EEs
(3) At TR (4) SUEd ¥ wE W TR
65 For a given (n+1) paired values probolic method means fitting a
polynomial of
(1) degree {r-1) (2) degree 2
(3) degree n (4) degree 3
fEet (n+1) gad Yaoll & 99 ¥ T 9§ W AEEE BN ¥ e
(1) = (n-1) @) e 2
(3) @liE n (4) wife 3
66 A finite difference table 1s said to be diagonal difference table if :
(1) the origin X is the first argument of the series
(2) the origin ¥ is the last argument of the series
(3) the origin x  is any intermediate value of the series
(4) none of the above
Th TRPE o grol @ fawelia ey gl @l W § O
(1) %= frg x, A @ wew uew @
(2) &= g ox, 9ol & el wew @
(3) &= fg x, h w1 B N o W oww @
(4) SUUE H ¥ By

-

OP19 Al 22 [AUEGEITR (Coned..
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A finite difference table is said to be central difference table if

(1) the origin X, is the first argument of the series
(2) the origin X, is the last argument of the series

(3) the origin X, may be any intermediate value of the series

(4) none of the above

qmw&ﬁamaﬂuﬁﬁ%ﬁﬁﬁwmﬁmm%u&
1) ¥ Rrg x, N @ yew uew ©

) ﬁﬁ%@xo%vﬁmam'&mﬁr

() W= fag X, Rt % dra wE T O e &
4) Iea § 4 @i el

68 Divided difference is useful when
(1) arguments are equal spaced
(2) arguments are unequal spaced
(3) arguments advance with unit interval
(4) all the above
arlfg o &1 SUANT Bl ¥ Wi
(1) Tew e aRR W
(2) TR B IR A Bl
(3) TRH B AW FBE A ¥ T B
(@) wIET gW
60 Newton's forward difference formula is used to interpolate if
(1) the interpolating value lies in the begining of series
(2) the interpolating value lies in the end of series
(3) the interpolating value lies in the middle of series
(4) both (1) and (2)
w{ammﬁrwwmmﬁwmﬁsﬁ%ﬁ%ﬁwﬁﬁmw
T W -
(1) oradyrEm wm g B ogE H W
2) oradedm w g0 ¥ e X W
G) eradeEE HE SO % e ¥
@ (1) T (2) I
OP19_A] 23 AR (Contd.
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70 Newton's backward difference formula is used if

(1) the interpolating value lies in the begining of series
(2) the interpolating value lies in the end of series

(3) the interpolating value in the middle of series

(4) both (1) and (2)

& B I T g H STENT IFOdyW ¥ &M A Rer smar %
g

(1) oEseE o 99t & 9@ § @
(2) orgdsEE AW Ol F oFw § W
(3) ormEyE T S % oA § @)
@ ()W (2 =i &

71  Lagrange formuia is useful for
(1) interpolation (2) Extrapolation
(3) inverse interpolét’ion (4) all the above
W 61 gl Syartt ¥
(1) ‘swEeE 2y ety
(3) T A @) S @l
x: 5 10 15 20
72 The missing value for the data 25 9 3 by binomial
method is
1 7 (2) 8
G) 3 @ 253
R . x: 5 10 15 20
foue =i [ty & Fra w@at @ @8 g2 9= Prewt yi 25 7 8
I 7 @) 8
3) 3 4y 253
OP19_A] ' H NEHIENINNE LContd...
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73  Method of inverse interpolation utilises :
(1) iterative method
(2) Lagrange method
(3) method of successive appoximation
(4) all the above
@ eradym faf ¥ swm ¥ @ W@ ¥
() Yty fata @) v fafy
) Freax somm Tt (4) wudEw @l
74 Newton's forward difference formula is °
n—1 n . n(n .
@ Y=Y, rX|, A, @ L=2|,]8%
f':l r::O
T iny ,
(3) Yx:z , Ay, (4) None of the above
r=1
e w1 Al A T
n-1 \ n
ny ., n
o % )fz[ﬁf (2) Y,,'—E.\(})}A’y,,
=1 /s p=0s -
Gy, ) )
@ Tz, A% @) wwgE ¥ & B @
r=
75  Which of the following relationship among finite differences is not correct ?
3 3 — A4 2 2., _ A3
(1) ﬁy—l_A -y—2__Ay—2 @) Ay—l_A yo_Ayo
— A2 =y —
3) Ay2 —Ay =A%) @ By =N
frefifae. & 4 B ey oiPE erad ¥ W A ¥7?
3 3 4 2 2 3
(1) A })_I—A y_,=A y-2 (2) A y_er ¥, =Ny,
— A2 =y —
G A, ~m=AY @ By =N
OP19_Al 25 | TUREANBININY tContd...
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76 If X}, and X, are independent variates which of following statement is

not true ?

(M E()‘}Xz)zE(Xl)E(Xz)- @) E(X1+X2)=E(X1)+E(X2)

@) E(x-X,)=E(x)-E(x,) @ (x,/%,)=E(x,)/E(x

ﬁ&XleﬂTXZa@aam%ﬁﬁmﬁTﬁgaﬁ%aﬁw—maﬁmw
B

(3) E(Xl_Xz):E(Xl)_E(XZ) ) E(X1/X2)=E(X1)/E(X2)

77  The moment generating function (m. g. f) of a random variable x
defined as :

(1) E(e"‘”) ;¢ is a constant  (2) E(e’“)
@) £(toge”) (4) none of the above
Wﬂﬁﬁ@ﬁﬂ?xﬂﬂ@ﬂ%ﬁﬂmw (an.91.%.) ufoenfe femen wmem 3
W E) o wm e v @) B(e)
3) E(loge”) @) TR ¥ A B B T

78 The m. g f of sum of two independent random variables is :

(1) sum of their m. g. ' s (2) product of their m. g f s

(3) difference of their m."g. " s (4) mean of their m. g f s

T WA T BT ASLE. Bl TS

() < SNE B s (2) < STSH. @ IOW
(3) Ml SLEW. &l S (4) T b G w oA
OP19_Al 26 [MNIKIRTRD (Contd...
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Let @ be the probability of success of an event and let (1-9) be the

probability of failure, then the probability that event will occure in exactly
x success in n trials.

1) " (1-6)"" @ = 9’“ (1-9)""
(H—-JC)! gx 1-8 A—x gx(l 9)" -X
(3) o (1-6) (4) (n- x)lxl

afe Rl T W TR @ R @ ¥ Fu s &t it (1-6)
%ﬁfigéwﬁmmxwwmﬁumﬁ

n!

1)y e (-6y"* @ o 0-9""
o = ooy @ G 00
80 For a poisson distribution with parameter ¢ the mean and variance of the
distribution will be
(1) (8.9) 2) (6, 26)
3) (20, 8) (4) none ot the above
s @it g fawem g o ¥ dt sud wed ud Rree @
1 (9.6) ) (8, 26)
3) (26, 6) @) ouied § ®E W
81 For large n and ¢ in the neighbourhood of 6 =% a binomial distribution
tends to which distribution
(1) poisson (2) normal
(3) negative binomial . (4) hyper geometric
g g W AN % ¥ @iy o @iX n g1 & @ O faww w7 o de
(1) e (2) T
(3) womew fEe (4) YT IR
OP19_Al 27 * IR EContd.
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82 If x has a uniform distribution over interval (—1, 3) its mean is

(@M1 @ o
(3) 3 (4) none of the above

g x (-1,3) ¥ Th SWAWGR 929 T @ SHE Wiem wm

®Hn 1 2 o
3) 3 4) SUed § ¥ wis O 9

83 If the value of Kurtosis is more than 3 then the shape of the curve is

(1) medium top (2) flat top

(3) peak top (4) any shape

g% FHed &1 AN 3 W oftm ¥ A wwm @ 9w Enl
() @ gifw = (2) =ue Sftw aw
() Faw offw = @) g N gEr @

84 If 4 and B are two independent events then which is true ?
(1) P(4B)=0
(2) P(4uB)=P(A4)+P(B)
() P(AuB)=P(4)+P(B)-P(4).P(B)
) P(4B)=P(4)-P(B)
a4 wd B R @ad ve ¥ @ Preafvfad § S wer 32
(1) P(4B)=0
(2) P(AUB)=P(4)+P(B)
(3) P(AuB)=P(4)+P(B)=P(A4).P(B)

4) P(4B)=P(4)-P(B)

OF19_A] | 28 IAHAINNRNG tConed...
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85 If 4 and B are two independent event then P(A/B) is
aQ o @) P(4)
®) P(B) @) P(4)P(B)
aft 4 R B @ @aA weA™ ¥ @ P(4/B) ¥
M o 2) P(4)
3 P(B) @) P(4).P(B)

86 Two unbiased dice are thrown. The expected value of sum of numbers
on the upper side is

(1) 35 2) 7

(3) 12 4) 6

3 erfrg S| ¥ Fed T, S0 SaE W STNAE st & AT @
TN §

(1) 3.5 @), 7

(3) 12 4) 6

87 When the distribution is said to symmetric if the third moment is :
(1) positive
(2) negative
(3) =zero
(4) does not exist
wh de waPE B AR s S e W
(1) =D
(2) =OTEEH
®) T
4) SuH e 8 ¥

OP15_Al 29 RN tConed..
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The main drawback of gross reproduction rate is :

(1)  assumption of no mortality of female chilren till their age of fecundity.
(2} no consideration of divorce

(3) neglects number of unmarried women

(4) all the above

FH W W B g AW & 6 osaw

(1) =7 v & IR & w0 T @ AR/ W 9 39 @ 89 A usd
A WO ¥

(2) TWE B TIW e @l W@ §
(3) orfaafsa wikwmel & W TE T@ W §
(4) ST 99

The -net reproduction rate is more viable than gross reproduction rate
because

(1) 1t takes into account fertility rates as well as mortality rates
(2) it makes use of life table

(3) it uses survival rate

(4) | sl the, abowe

T WY, e SR @ ottt fagaaete ¥ iR

(1) ¥ 991 &X UF Jg IX 1 B IE@PT b ¥

(2) I S arolt &1 SuEET B §

(3) A "ERAW (survival) IW HI IFGT BRI B

(4) <9l Wl

Population growth is mainly concerned with
(1) total number of birth (2) number of male birth
(3) number of female birth (4) all the above

w ghg gegag feix
(1) T96 <=0 & wen (2) godl & = @ gen
(3) wfewrsli & <= B WEw  (4) Suddwa ol

OP19_Al 30 (IR rConed...
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Total fertility rate provides the basis for :

(1) the expected maximum family size

(2) population projection

(3) population increased in desired period

(4) all the above

TR W G oY Prefitga ¥ @ #-E e & ¥
) wfER & oftmad W9 Wl T

@) @ F A

@) @ ¥ el TR owRw o 9%

@) SO W

Vital index for acertaining population growth is :
(1) a good measure

(2) a rough measure

(3) a useless measure

(4) none of the above

SO SHieRSY B T Foree G Bl R 1 S T SIS
(1) T orsl AW @

(2) TH TN WG ¥

(3) T FHR A9 ¥

(4) wudem ¥ wE W

The general child bearing age in India is :

(1) 20-24 years (2) 20-29 years

(3) 15-49 years (4) 10-49 years
WO KA ¥ W e B SW B A ol §
(1) 20-24 9@ (2) 20-29 @

(3) 15-49 | @) 10-49 qrd

o194 st TR (Conta-.
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94 The probability of living a person in the age group of x to x+» can
be determined from the formulae in usual notation, by
M L/ @ en L)/,
&) (!x_lx+n)/ lx+n @ lx/ lx+n
T AT H x W x+n B TP A T B ARG B T FQ B B,
YR &St & W, B -8 gF BT I9ErT B
(D Ix+n/ L @ (£x+n ._;x)/ L
O (S /. @ L/l
95 A life table constructed for an age interval of 5 to 10 years is specifically
known as
(1) grouped life table (2) interval life table
(3) abridged life table {4) none of the above
TH ST GO & SH H SY S{adE 5-10 9 @ @ S @l fIewdR
T I FHE A T
(1) @gg st el 2) oraaw WEe 9ol
(3) wferg <fes el 4, S ¥ & @ o w8
96  The ratio of annual net migration to the annual mean population provides :
(1) vital index (2) net migration rate
(3) population growih (4) none of the above
alies g ToEe ol ofteg i¥e waw @ oUW I ¥
(1) ST Stihst & TONS (2) TR 99T W
(3) wmr W iy @ Sow ¥ ¥ o off o
97 A life table based on the experience of actual Cohart is called.
(1) generation life table {2) fluent life table
(3) both (1) and (2) (4) neither (1) nor (2)
b SeEe gt s fe U anafes wel % emwe wr s 6l ¥
9% HEAE ¥ '
(1) " SEE AR (2) 9 yaIeE SiEe |re
B) ()W () @ (1) T (2)
OP19 A SR M (Cona-
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98 If I_ is the number of person living at age x and L, be the number of
persons living the mid of ,# and (x+1)rh years, then the relation between
[and L is

L =—(1 +1 L =241
(D x _E( + x+1) (2) X _E+ x
G L. =0+, (4) none of the above
aft I @R % x ww @Y oF 7% N o of ¥ ol L, ok x g (x 1)
W % WeT A% WM @ ok ¥ L ud L, % 9 & e ¥
1 X
1 L= -2—(lx +lx+l) @ L.= E+1x
@) Le=l+ly @) W ¥ @ B o T
99 A life table is a profile of human population which exhibits :
(1) probability of dying at each age
(2) number of living and dying
{3) expactaticn of lifs-ats each/ sthge
(4) all the above
TH SET GRS HIERel @ wuEr & ey & T
(1) v&® 89 X W B Uilesar
(2) WG Td THA I BT HATBST
(3) TEF ST X AT TE@M
(4) SuE gl

100 If the population of a country in two consecutive census (1991, 2001) is
50 and 80 Crores respectively what is the expected population in 1995,
(1) 65 Crores (2) 64 Crores
(3) 63 Crores (4) 62 Crores
afy fpdt d91 H TEEm FAR & g TOER (1991, 2001)i‘r50qa
80 HUT ¥ o 1995 &1 FAGE@ B ATTA T
1) 65 B (2) 64 B
(3) 63 B (4) 62 WS

op19 Al 3 IR (ot
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101 The general relationship between gross reproduction rate (GRR) and net

reproduction rate (NRR) is

(1) GRR > NRR

(2) GRR < NRR

(3) GRR = NRR

(4) There is no relationship between them

WHRUET H=N 91 8% (GRR) W uRgg o X (NRR) ¥ =79 3 3

(1) GRR > NRR

(2) GRR < NRR

(3) GRR = NRR

@ T W BE ey T Owa
102 Population of a country remains stationary if NRR is

() NRR > 1 (2) NRR < 1

(3) NRR =1 (4) none of the above

s 39 # waie wi w3 oalk sEel ufitgs s ) (NRR)

(1) NRR > 1 (2) NRR < 1

(3) NRR = | (4 SR ¥ ¥ BE W T
103 The Vital rates of the population are expressed as

(1) per million (2) per 10 million

(3) per thousand (4) per hundred

W gl T WO 6 H W §

(1) wiy <@ @™ (2) Wa wE

(3) W TR (4) uta dwsT
104 The complete enumaration of all the units of population is called

(1) sample survey (2) cencus

(3) vital statistics (4) none of the above

W % YOE THE B O wEAR] &

(1) wiagst g _(2) O S T

(3) whEw wEE rws (4 SWaEa ¥ ¥ wE N T8
OP19 Al 3 [KNTNMERRYY (oned.-
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105 A population with constant growth is known as

(1) stationary population (2) constant population

(3) stable population (4) none of these

o Bl WAt & gRe =X omw ¥ o 9 wARe wwAl ©

(1) ey gate (2) omEd e

(3) fax wife @ T q B W TE
106 The general death rate is technically known as

(1) specific death rate (2) crude death rate

(3) standardised death rate (4) afll the above

TUR g &, Thd dR U ST S ¥ |

(1) Tfire gg () wEl Jg

(3) wE g & @) sudEa qdr

107 Survival rate in general is measured through :
(1) The difference between crude birth and death rules
(2) The ratio of difference between birth and death to Mean population
(3) both (1) and (2)
(4) neither (1) nor (2)
AT SRan /57 AR wy mell B
(1) HeA W X ud wel 9 I b A= W
(2) W WU U§ S Y I % X ol STgA
G) () w ()3«
@ () Tk @ 7

108 The advantage (s) of sampling registration system is that :
(1) It gives full coverage of area
(2) It is more accurate
(3) It provides estimate of rural and urban areas separately
(4) all the above

wRrast S ol &1 W § T

() ¥ gt & H Ryeor T 3

(2) A S U ©

G) A T wd 9Ed F SNEE Al oI AaT ¥
(4) STgR @R

OP19_Al 33 [N INAIRER (Coned...
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109 Sampling registration system fails to record
(1) age-sex composition (2) birth réltes
(3) death rates (4) all the above
TRiEst dSlieer oI H @ R’ At @ S o e s ?
(1) 39 wg {7 = 98w 2 w9
B) Jg (4 s al

110 Registration of vital statistics in India suffers from

(1) Incomplete coverage (2) Incomplete reporting
(3) lack of accuracy 4) all the above

WA § WH-Tg @ SieEt & UsieRe @ Fra wieEt ¥
(1) ot &= fEem () ongll M@y frexor

(3) wRyha & @i (4) SUUE W

111 Age specific death rate of babies less than one year of age is known as
(1) Infant death rate (2) Neonatal death rate
(3) Mothers death rate (4) Foctal death rate

LS G A s TR (1 =t s S T (B
(1) 9@ (Infant) Jg =W (2) e (Neonatal) I& &%
(3) = @ g T @ T W gy

112 Stanardised death rates are particularly useful for :
(1) Comparing death rates of males and females
(2) Comparing death rates of two regions
(3) both (1) and (2)
(4) neither (1) nor (2)
e g 1 ik W wveEs ¥ ose s
(1) T e el @ Ty X @ gen e ¥
(2 [ & B TG T B OGET DLW T
@) < () @ ()
@ () T (2)

OF19_A] 36 U (Contd...
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113 Fertility rate mainly depends on

(1) total female population

(2) total population

(3) female population in child bearing age group
(4) number of newly born babers

w9 @9l X ge7 9@ el w e ¥

(1) T9 dfiwel @ wnie

(2) " e

(3) wieeel @ wale S I Awd 9w A ¥
@ T I T b SE

114  Age specific death rate for the children of age less than five years is called :
(1) Infant death rate (2) Neonatal death rate
(3) Maternal mortality rate (4) Foctal death rate
fufise ow wg &, W f5 o wwl % T R Sw Wi ww @ WA
B ¥, weeE @
(1) 9@ (Infant) Jg T (2) =ed (Neonatal) Y W
(3) W @ g | @ B g X
115 If the demand of a’ commodity is not affectéd cven wiwi 'the piice increases
such commodity is called.
(1) ideal commodity (2) non sensitive commodity
(3) essential commodity (4) none of the above
o R g A W SR S T § weie T e ¥ ol
(1) oMl a%g (2) ST i T
() omasEw oY (4) SWEd ¥ ¥ B W A9
116 If the demand for the commodity decreases as the price of the same
increases such commodity is known as
(1) essential commodity (2) ideal commodity
(3) }:;ositive]y elastic commodity (4) none of the above
af f5ft ag w1 Wi SuH PG 96 W ¥ HH B IARI 8 A BH e
HEd T :
(1) SEEs TG (2) ol &g
(3) eI W AW g (4) woF ¥ 4 B5 W @
Or19_Al 37 NEARMIN N Coned...
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117 In India the price of US Dollar is determined by

(1) International market (2) Reserve Bank of India
(3) National Share Market (4) none of the above
g § IHUET BT B AE aF B 2

(1) SRS TR 2 wEE =g ¥

(3) TWE W TEW (4) S ¥ ¥ BY T

118 If the demand for a commodity decreases with decrease in price such a
commodity is called
(1) discommodity (2) essential commodity
(3) ideal commodity (4) non elastic commodity

gt Reel oeg A7 B e W TH 9F] B AT W B g SR ¢ Al 9%
TG HEART &

(1) ey (2) s g

(3) omN Uy @) R A" e wg

119 If the demand of commodity increases with decrease in the price such a
commodity is called

(1) positive elastic commodity  (2) essential commodity

(3) . Ity commodity {4}, uone of the above

MY AT TG B BT T T o8 qK B AT GG W ¢ A a8 HEARN &
(1) e d= amen 9% (2) omEYEH 9y

(3) Y@ B aE (4) ST H @iy T

120 The price elasticity of demand can be defined as
(1) relative change in demand of the commodity per unit change in price
(2) relative change in price per unit change in demand of the commodity
{3) both (1) and (2)
(4) neither (1) nor (2)
WA W &/ aReiya @R s " ¥
(1) Teoelt =weg & w7 emifde IEAE Uik SEHl HEG § UE sHE 9eadd
o ¥ -
(2) Topdl agg & ®ma W oMIRTE Sed alg Sg@ A9 § UH 5% 98AT
AT F
3) ()8 ()
@ (1) & (2)
OP19_Al 38 UMMM N Loned.-.
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If the price elasticity of demand is high then the commodity is called
(1) essential commodity (2) ideal commodity

(3) luxury commodity (4) sensitive commodity

o fedt g W B B W ot @ @ ar oy weE ¥

(1) oEE® a5 (2) et O

() TE-TE @ TG @) denie ag

If the price elasticity of demand is low then the commodity is called :
(1) essential commodity (2) ideal commodity

(3) luxury commodity (4) sensitive commodity

oy Bl ag A W @ AN g S B W a8 A BRI 8
(1) EER =g (2) omREst a%g

() e W Y (4) HIEhd a%g

If X follows a Bi(n,6) then it will be symmetric if @ is :

@ oe=4 @ 0=Y

(3) 9=% (4) none of the above

af aghah/ B9 X Jpdn el [ uais | Fn aflcceC @
W 6=Y% @ 60=Y

¢ 6=} @) ww ¥ ¥ B &

If the mean of a binomial variate is 4 and its variance is 3 then the value
of g will be

m o=% | @ 0=%

3) 6’2% (4) none of the above

ofy U Taue 9 H1 WEA 4 UE SEHl YO 3 ¥ A 9 W AW W

m 6=Y% @ =%

@ o=Y @ s F ¥ B N T

OPI®. AL 39 MWD (Contd...
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The supply elasticity of demand can be defined as
(1) ratio of relative change in supply to relative change in demand
(2) ratio of relative chaﬁge in demand to relative change in supply
(3) Dboth (1) and (2)
(4) neither (1) nor (2)
fordt =g o emgfd @ 9 W W oientya # o §
() omgii o omfdes sew wd AT % Wi S # SIu™
(2) W & omifdes S]WE TE OMYRE & oMU SeEE H ST
@) 1) @R @
@ =g (1) =1 (2)

If the demand function of a commodity 18 g=f (p) then the total

expenditure on it will be : (given p is price of that commodity)

df
M dff ) @ ¢/(2)
3) pf ( p) (4) none of the above

i B erg @) i @eH 7w () fesa g won e s @R
p 84 9y F B ¥)

d
(1 % @  q./(q)
3y pf(p) (4) wudwd ¥ § @is @l

The correlation between two variables X and Y is :

(1) the degree of linear relationship. between them

(2) the extent of functional relationship between them

(3) both (1) and (2)

(4) neither (1) nor (2)

AT H AE WETY T ,

(1) o §ra 3l e & Bile (2)  ST% 90 Had @G Sl 4

(¢) () SR (2) (4) A () T (2)

OP15_Al 40 (IR tConed...
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128 The range of correlation coefficient based on » pairs of observation is

® (01 @ (-10)
-1
@ (-11) @ [;JJ
gy S S 6 o g del W oeneia ¥, @1 yER
ORRCRY @ (-1,0)
-1
@ (L) ) [—;J]
129 If y=10+4X then the correlation between ¥ and X will be
1 -1 @) -+l
(3) 4/10 (4) none of the above
AR y=10+4X @ YU X F T WEEFY JUiE BN
(1 -1 2) +1
() 4/10 (@ wuded ¥ ¥ B W @

130 The corrdation/ Cobficieri betwekn X hnd) ¥ ds| ckorested )in| terms of

regression coefficients By, and Byy is
(1) average of By, and By
(2) Geometric mean of By, and By

(3) Harmonic mean of By and By

(4) none of the above

UG R X@Y%éﬁawwaﬁmwmw
B, W By, % m fred wew fewm o ¥

(1) By W By @t A
() By, wd By, @i O W
(3) By, W By, & EH WA
(4) SR ¥ F By &
OP19_A] “ (G TTRAATY TC-omed..
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131 The unit of correlation coefficient between X and Y :
(1) is same as unit of X (2} is same as unit of ¥
(3) same as unit of X.Y (4) there is no unit
FewEy T, T A W X W ¥ ¥ A ¥ s
() AT X B sBE T (2) A T ST Y& F8 &
@) XIS XYW R ¥ (@) SR F Y B A

132 If the relationship between ¥ and X is Y=5-3X then the correlation
coefficient between ¥ and X is

a -1 2) +1

(3) -3/5 (4) none of the above

AR Y@ YS dugEy 53X @ X @ Y F & gnEes iw
Frm

1 -1 (2) +l

(3) -3/5 (@) vuded ¥ ¥ &g A

133 If X and Y have p as correlation coefficient then the correlation coefficient
between X —g and Y—p

1 =p @ =p

3 =p (4) none of the above

Rt & ad X gd ¥ & 99 weway e p T Al (x—a) T (y-b)
1 >p @2 <p

G) =p (@) sudEw ¥ @ W o T

134 If the correlation between X and Y is positive then the correlation between
~X and -Y will be :

(1) positive (2) negative
(3) zero _ (4) (1) and (2)
af X od ¥ ¥ 99 Gee S S § @l X, ¥ & " 9% '
(1) uTeH (2) =D
() I @ (e
OP19_Al 2 NI (Contd.-.
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135 For a group of n people the correlation between height and weight is
calculated then it will be

(1) positive (2) negattve
(3) zero @ (1) and (2)

@nw%aﬁﬁﬁﬁwﬁm@%@awwﬁmaﬁw
CI EER )

(1) oEE B (2) HOTEE BN
@) o W @ (1) &R (2) &=

136 Karl Pearson's correlation coefficient between two variables X and Y is
defined by the formula :

E(XY)-E(X)E(Y)
v(xX)v(r)

(1 F=

_E(x7)-E(X)E(Y)

@ T porm

G P=JE(XN)-E(X)EX) [V (x)V(¥)

" JE(XY)—E(X)E(Y)

VX (r)
FE TG B gEwEY OH, WX X ud ¥ % A9, B g ¥

E(XY)-E(X)E(Y)
v(x)v(r)

(1 »~=

_E(X7)-E(X)E(Y)

(2) .P_ J?(X)V()
@) P=JE(XV)-EX)EQX)V (X)V ()

“ JE(XY)—E(X)E(Y)

V(X (r)

OP19 Al 43 [N KRN TContd--
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137 X and Y are two varables, one of them assumes same value for all
observations, then the correlation coefficient (p) between them will be
() p>0 2y p<o0
3) p=0 (4) can not be determined
X, Yod A wig W ww ax % Wl VE B W A § <l SIhl geeery
T (p) €W
(y p>0 2) p<0
B p=0 (4) p®1 WE AR TRl W FhdT
138 The correlation between the circumference and diameter of a circle is
1 +1
@ -1
(3) zero
(49) non-sence correlation
T ga W IRy R SEw W H WeESr [Uie RN
(M) V¥
@ -1
() IA
(4 e weEy
139 If the regression coefficient bICY is positive then the regression coefficient
by will be
(1) p‘ositive (2) negative
{3) =zero (4) nothing can be said
it wmEEe e by, HAGH ¥ A GHIS [ONG b, &
(1) gTHs (2) =®HHS
3y 1@ (4) % I N FB T BT o Tl
OP19_A] 44 NN tcontd...
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140 If the regression coefficient » -1 then the regression coefficient _bxy
xy

will be :
(1) bxy >1 (2) bxy <]
@) b, =1 (4) nothing can be said

H&WWTﬁfﬁbxy>l?ﬁwww b, A
Q) bxy>1 @) bxy<1

3) b, =1 (4) 9% X A FB TE HEl A el

141 1If the regression coefficient ¥ on X is by, then the regression coefficient

of C¥ on X will be (C>0) :

1
(1) Eb};‘{ 2 € by

@) C’b,, (4) _ no, change

o Y @ X WX s [NE by, A CY W X W OEHEse TG
gm (C>0)

1
M o @ € by
3) C’by, @ = sewmE T

142 The correlation between the side and area of a square is

(1) positive correlation (2) negative correlation
(3) nonsense correlation {(4) no correlation
o o @ e Od Se Aew % S wewE @
(1) €1 Weasry (2) FTHE WeTTY
() Preds Ty (4) HE wEHY S
oR19._Al s INHBARIED) (Conto-
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143 I bYX is the regression coefficient of Y on X then the regression coefficient
of Y—q over X (a>0) is :
(1) no change () by+a
b ., —a ' lb
@) by @ by
IR by X YT G GG NS E A Y - (a>0) BX U GHIHA
Yo BN
(1) @ wawE T (@ byta
b lb
@) % ¢ @) %
144 Given the regression line ¥ =14+0.6X, the most probable value of ¥ for
X=5is
(1) 15 2) 17
3) 16 4 19
o mEEEw, YA 23 yoi4a06x AoK=5F W Y @ e
ST WHAAERT 9F S
() 15 ) 17
(3) 16 4 19
145 The regression coefficient Byy can be defined as
(1) Change in Y per unit change m X
(2) Change in X per unit change in ¥
(3) Change in ¥ by a unit resulating change in X
{4) None of the above
Y @ X aX |qeigEn e gienie R s ¥
(1) Y ¥ 92w o9 X & TS IHE § @ AP
(2) X3 Sedig S99 Y B U IHE Y gEAl 6l §
(3) Y% UH IHE b I_AN & HRU X H qEAE
(4) SWE & ¥ @iy Tl
OPI9_Al 46 [WINABHIEN 1Contd...
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146 In which index number the quantity of commodities of the current
year used is as weight

(1) Laspeyre's index number (2) Paasche's index number

(3) Kelly's index number (4) Fisher's index number

e qEie § O ad B B o ageli W W B IR ¥ oY ¥ &M
A foam smn

(1) wEIRR %1 gueis (2) W W GINB

() A B gEAE @ e @1 gEie

147 Which is the most appropriate average used in Index number

(1) Mean (2) Harmonic mean
(3) Geometric mean (4) None of the above
i 4 &M 9 A 999 SugE ot @

(1) v A (2) T e

(3) TR A @ wudes H T i 8

148 Consumer's price index is also known as
(1) Whole sale index number
(2) Cost of living index number
(3) Fisher's ideal index number

(4) None of the above
e Jed Foie Fr A § O Sten ot §
(1) @% & 99 H FID
(2 =3 ek w1 g
(35 e a1 st guniE
(4) S # ¥ B T
OPBAL v (IR tContd..
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149 The demand and supply funcitons of a commodity are d=16-2p- p2

and s=8p—6 respectively then equilibrium price of the market will be

1) p=2 2) p=3

(3) p=8 _ (4) None of the above

R e ag & A wd ongfd e weent R ¥ g=16-2p-p® T
s=8p—6 W WK & g UX I B B wH

(1) p=2 @ p=3

3y p=8 (4 IR F ¥ By TR

150 If the demand of a commodity increases inspite of decrease in the supply
of commodity then commodity's

(1) price will increase

(2) price will decrease

(3) no change in price

(4) nothing can be said

afy Rp aig BN W STl AGRT b BT € & AIG A el I AG H
(1) T qT SEW

(2) T T SR

(¢) T W B SE@E @SR

@) 3= Ak ¥ B o T w1 Febal

151 Index numbers are known as

(D " economic barometer (2) signs and guide post
(3) both (1) and (2} (4) neither. (1) nore (2)
e FEAR ©
(1) affE Rug ¥ WA () R wd R
() (1) &R () @ @ «fe (1) T (2)
OP15_Al 48 AW (Coned.-...
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152 Index number is a

(1) measure of relative change (2) special type of average

(3) a percentage relative (4) all the above

i b

(1) oM sewE & @i () wa fafits ywr w1 "
(3) wifEa whivm (@) wudE ;T

153 The error(s) involved in construction of an index number is (are)
(i) Sampling error
(2) Formula error
(3) Error in collection of data

(4) All the above

gei® TR § BN e Wl & e w7
(1) W

@ A e

() wHH B FHS B YL

(4) SudlEd g

154 The most commonly used index number is
(1) Diffusion index number (2) Price index number
. (3) Value index number (4) All the above

T e wm T I

(1) =R EAw (2) T S
(3) N gIw () SWRad ¥ ¥ By W TR
OP19_A] 49 | KNI [Coned...
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155 Consumer price index number is constructed for
(1) well defined section of the society
(2) all people
(3) people of a particular area
(4) all the above
e 9 goie & tEw fhes W R osmm oy o7
(1) oERE & uw o g Ui @vs % fWd
(2) =N smwhet &
() Felr & & onelml & TR
(4 Sudw oW &%

156 The first and foremost step(s) in construction of index number is (are)
(1) choice of based period
(2) choice of weights
(3) to delineate the purpose of the index number
(4) all the above
ettt RS E S e I e 7B
(1) R 9¥ &1 I
@ o F g
¢) fa R\ I T I SEH gIAaie T s
(4) Sl ql

157 If p is correlation coefficient between X and ¥ then quantity 1 p2 is called

(1) Coefficient of determination (2) Coefficient of non-determination

(3) Coefficient of association (4) None of the above

aﬁf&’fﬂﬁ){qﬁ}fﬂ»‘f@@ﬂ:gﬂiﬁﬁp @ (1-p?) wEER &

(1) S@EE 6 (2) viianied SR iH
(3) TEEIEd U (4) ST A ¥ By TR
OP19_Al S0 AN tConed...
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158 In regression of Y on X, the variable X is known as

(1) independent variable (2) regressor

(3) explanatory variable (4) all the above
T Y W X T GO F Ay X w S e ¥
(1) @A W (2) W W
(3) TEE (4) SUUE wW

159 If p==1 then two regression lines are

(1) coincident (2) parallel

(3) perpendicular to each other (4) none of the above
IR p=+1 B @ I TEHEw Y@ s

(1) srg&y (2) @HiEY
() g WA ¥ (@) wudem ¥ wis W TR

160 If p=0 then the two regression lines will be
(1) coincident’ (2) parallel

(3) perpendicular to, each-cther, ~{4) - none of the above
I p=0 & qA I wEEHEW @I

(1) oigsu (2) THW
() TS T W wH (4) SWRad ¥ § @ O T8

161 Given the two regression lines 3X —4Y +8=0 and 4)X —3Y =1 then the

means Yy and y are
(3) X=4/3, Y=5/4 4 X=5 V=4

afy I T Yad & 38 ¥ 3x -4y +8=0 T 4x-37 =1 A WA
X @ 7 % AR

(1) X=4,7=5 2) X=3 7=4
() X=4/3, V=5/4 (4) X=s5 7=4
OP19_A] st I (Conta..
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162 Consumer price index in 1990 is increased by 80% as compared to base

163

164

year 1980. A person whose annual earning were Rs. 60,000 should now get
(1) Rs. 1,08,000 (2) Rs. 1,72,000

(3) Rs. 1,54,000 (4) Rs. 80,000

1990 %1 UTeH Y YuAich, SEp AHR a¥ 1980 ¥, % BN 0% W3

T T A U R e i A 60,000 €. &Y o I @i Ry
My

(1) 1,08,000 3. ) 1,72,000 <.
() 1,54,000 . (4) 80,000 .

In india the data pertaining to growth of economy is realsed by
(1) Central Statistical Organisation (CSO)

(2) National Sample Survey Office (NSSO)

(3) Reserve Bank of India (RBI)

(4) State Directrate of Economics and Statistics (SDES)

ad § ofereen ® few ¥ e ek o RY s R
(1) CSO (2) NSSO

(3) VRBI (# L SSDES

The general short comings of Indian statistics are

(1) Inadequcy, incompleteness and in accuracy

(2) Lack of uniformity, Lack of cordination and lack of proper analysis
(3) Delay in publication and in adequate publicity

(4) All the above

() ugiaar, ageiar ud sruigrsdt

@) TF N, T T eghm R @ el

(3) wEH ¥ faere wd wEw @ erauiwan

@) SudE @\

OP19_Al 52 [AVRTRNINHE (Contd.
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Indian agricultural cencus was first held in the year

() 1950-51 2y 1960-61

3y 1970-71 (4) 1980-81

TN WA B WOFN 3 W 9

(1) 1950-51 (2) 1960-61

(3) 1970-71 (4) 1980-81

In some sense the real Indian population cencus was conducted in which
year ?

(1) 1871-72 (2) 1881-82

(3) 1891-92 (4) 1895-96

ol demt o anafys woam swOET AR ¥ feg oad H Y 2
(1) 1871-72 (2) 1881-82

(3) 1891-92 (4) 1895-96

National sample surveys organisation conducts sample surveys to collect
information rabout crganised sekior

(1) every six month (2) annually
(3) biannually (4) none of the above

AR wfosyl wEae @et aEie et v % R ok wehbe
EEGIE]

(1) ¥ B 9@ (2) wla g

(3) « uw ¥ uH 9 (4) UUad § ¥ @iz O T8
168 The sixty first round of NSS was conducted in the year

(1) 2002-03 (2) 2003-04

(3) 2004-2005 (4) None of the above

NSS & 61 & =% %9 fear wm @t ?

(1) 2002-03 (2) 2003-04

(3)  2004-2005 @) Sww ¥ ¥ s I
OP19_A] 53 ININIEEARIY (Contd...
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169 Land utilization statistics are published in

(1) Agricultural situation in India (monthly)
(2) Abstruct of Agricultural statistics

(3) Statistical abstruct of Indian union

(4) All the above

i I B F oS T TR W ¥
(1) waw ey Refa (vfee)

@) o T awe (@)

(3) WRA™ ghmwr & offbet w1 Eiee
(4) U WHl

170 Indian Live stock census is conducted every
(1) Yearly (2) Biyearly
(3) Quinquennially (every fiveyear) (4) None of the above
WA 9YEA B A B S § W

(1) §= 2 & ud ¥ TH IR

(3) dEm g9 ¥ TH 9 (4) SulEd ® ¥ w3 T
171 The main source of collecting Labour statistics is

(1), , Decenal census (2) - Natignal cample. surveys

(3) Employment Exchanges (4) All the above

ol wAfeR WA B THRT B B gE I

(1) =g =dfa SEE (2) T wkiest wEEe

(3) AR USBLoT Eel (4) SUTET |H

172 The forest related statistics are published by
(1) CSO and NSSO
(2) NSSO and DES (Directrate of Eco. & Stat.)
(3) DES and CSO
(4) All the above

T g dAlps Ty BE §

(1) CSO &R NSSO

(2) NSSO @R DES (SR#Z 8% THl. 3K =)
(3) DES 3T CSO-

(4) SuEd T

OF1_Al >4 [T (Coned..
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For the first time in 2011 census foreigners were also counted for those
living in the country for more than

(1) 21 days (2) 9 month

(3) Six month 4y 9 year

2011 ¥ ST § URWER S feksfat & W o g5 ¥ W R o
M 2RFaeafEEeRSIT Q 9 afmc®A
B) 6 A MBFPTRA @ 9z & st ® @ @

How many Govt employees, teachers and others were involved in 2011
census ?

(1) less than 50,000

(2) less than 1,00,000
{3) less than 1,50,000
(4} more than 1,50,000

2011 &7 sFEE § fhaw SR wdarll, sws SR o @ &M 3
st R T & 7°

(1) 50,0008 %q
(2) 1,00,000 ¥ &Y
(3) 1,50,000 9 A

(@) 1,50,000 ¥ SOwEI

175 In our country 1t has become necessary to register
(1) births (2) deaths
(3) marriage and divorce (4) all the above
T &y H Frfafad § @ frer vslier et ¥ o2
1y = @ 79
(3) onieE wd aew (4) SueT wH
OP19_Al 55 (WA I TContd.
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176 For calculation of National Income we use

(1) census production method  (2) census Income method

(3) census expenditure method  (4) all the above
TS o @ e ¥ wm F R SW R

(1) e G fafa (2) @ T Tafa
() =@ wE Ay (4) U "l

177 Census of manufacturer is conducted every

(1) month (2) six monthly
(3) yearly (4) Dbiyearly
FEREE WOE B ST ¥ w

(1) = A (2) ®AE d
(G) "W o @ o sw A

178 One of underlaying assumption in analysis of variance is
(1) errors should have same distribution

(2) errors should be independent

(3) . errors should be N {O, 0‘2.)

(4) all the above

e faserger 0 Py werwel ¥ ¥ uw T T
(1) et @ 9 T E A

@) I woR g i

@) i V(o of) @ afd

(4) wudEE wH

179 In any experimental research the experimental unit is

(1) an animal (2) plot of land
(3) group of animals @) all the above
Pyt ot ®E B T SEE ¥
(1) Ty (2) UH SN B gHSI
() T Uy B EE (4) SoAE W
OP15_Al > NFRAAAIAY (Coned...
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180 The basic principles of experimental research are

(1) replication

(2) replication and randomisation
(3) randomisation and local control
(4) all the above

TR SEaN & quYd Reara @
(1) gk

(2) YER T aERmE

(3) urefEete Td W Frso
(4) SwlE gl

181 To get an idea of the fertility conditions of a field, the method used is

(1) Local control (2) Replication

(3) Randomisation (4) Uniformity trials

Th Gd B Al & uRRafet @ wee % e e owae § e ¥
(1) i Presm @) gk

(3) amEfm®Iu (4) UH FEEa: qiEe

182 In a two way/classification wdth 2 obseivations inceach -cally In ' rows
and '¢' columns the degrees of freedom for total sum of square will be

(1) (m-1) (1) @) (1) (1)

3) 1) (1) (4) mre -1

m UE Yl wvew AW qe Temel @it fvad v dfREi 9o e wiw
ECI R G e L ) e i e T i T2 ]

1) m-1) (c-1) @ (m-1) (1)

3) (1) (c-]) (4) nmwe -1

183 Local control is absent in which of the following
(1) Completely randomised design (2) Randomised block design
(3) Latin square design (4) None of the above

tefalan 4 @ el Frsw el egofee e ¥
(1) wim: aefes afiean () a=fes g steam
() e ot sfmeean (4) s ¥ ¥ B off W

OP19 A 7 IR 1Comea-.

www.upscstudymaterials.com



www.upscstudymaterials.com
184 Who developed the technique of analysis of variance ?

(1) Pearson (2) Yates

(3) Cochran (4) Fisher
vl Rysdwer @ wlem o R feww femoar 7
(1) T Q) =9

(3) W& @ R

185 Local control is used to
(1) increases the number of plots
(2) to reduce the number of replications
(3) to reduce the degrees of freedom of total sum of square

(4) to reduce the error variance

e P @ e 3w e fem s @ Red

() qEvel @ GEn oF %

@) TR @ e @ wen F R

G) Wt o dm B e B B wen wen b R
@ IR F g H® wER & WA

186 In a randomised block design-the homogenty should be there

(1) between blocks (2) between treatments
(3) within block (4) none of the above
w aEiEd wus afeed ¥ GERT (homogeneous) BT e
(1) X @l & &1 A (2) o STard & ' o
(3) wU=H F IIIL (4) REd ¥ ¥ B T

187 If Hy is false then the probability of accepting H, is

() « @ B
3) 1-« | 4 1-p
afy H, w@ T8 ¥ @ Hy & WeR $ & oy
1 o ) 2 P
3) 1-o @ 1-B
Or19_Al 58 [NIURIRIRLRD EContd...
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Probability of rejecting H, when it is true is

M o @ B

3G) l-o 4 1-B
aft Hy ¥9 & O 0 @R WY @ wiws
1) « 2 B

3) 1-a : 4 1-p

In a normal distribution, when variance is known the appropriate test for
testing Hy:0=4 Vs H,:6=6 is

(1) t-test {2) Normal test

(3) Chi-square test (4) None of the above

T WM 92 RNHaA! Texor s & al Hp:0=4 Vs H,:0=6 &I a0
B P WY BE-E OO SUYE e

(1) ¢ adrEw (2) WEERT UdE
(3) w-a g @ s ¥ ¥ B
In a large sample test based on sample of size » the standard error of
- proportion is
7q oy, NPD
(1) \“/ _____
H 1
() pa/Vn @ pg/n

Th g€ whindl wdiew, gfaest & W op o3 onenfE, o e @Y W
E(CAKA]

® = @) @
@) pa/Vn @ pa/n

Which of the following test is used for testing significance of observed
correlation coefficient, provided sample size is small ?

(1) t-test (2) F-test

(3) Chi-square test (4) Normal test

Prfafea & & witesl @ ur weeay e @ wefea B adan w5
& T B wlew swEm & ol whedt g @ @

(1)  t—uramr (2) F—alfam
() FE-at T (4) waarg wlEer
OPI9 Al 9 AR (Conta..

www.upscstudymaterials.com



192

193

www.upscstudymaterials.com
For testing the hypothesis that the mean of two normal population
(with common unknown variance) based on a small sample, which is
appropriate test ?

(1) Normal test (2) t - test
(3) Chi-square test (4) F-test

3 T gt % wiedl ¥ ER A9 B uiweer (SEiE S T
THF TER e 3) % qdaw % Y B uikest w snuhe @
T SUgET § 7

() weEIRr et ) t-lam

(3) W T @) F-uligo

The most appropriate test for testing the hypothesis that the variance of
normal population is equal to some assumed value is

(1) t - test (2) Chi-square test

(3) F-test (4) Normal test

U YOI GRS F SE6! TER & I% M 7 & aiE ¥, 36 IReer
T, TR, B R e s, e R

(1)t @) @ wdEn

(3) F-Tdae (4) wEE= TdEv

194 Which is the most appropriate test for testing the hypothesis that
means of four normal populations (with common unknown variances)
are equal ?

(1) ANOVA test (2) t-test
(3) Chi-square test (4) Normal test
o gEEr weAt (Rt UERor U 99 SIS §) % W @l U wEal
F vlaw & A BF-w odae gy Sugad ¥
(1)  ANOVA-9iE | (2)  t-a{E
(3) wE-t aleEw (4) T qAE
OP19_A 60 [GANIINNIE [ Cored...
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A random sample of size 80 is taken from a bivariate normal distribution.
The coefficient of correlation obtained from the sample is 0.6 to test that
the population correlation coefficient is 0.4 which one of the following
test ?

(1) Normal test (2) t-test
(3) Chi-square test (4) None of the above

T GERSE YRRy & A 80 ¥ R ww frex wewew 9= ¥ fmn
T ¥ W OTHING WEEE Ul 0.6 ¥ | wE ThEw e b R wm
e & wewey T 04 ¥ firet ¥ ¥ fd @ olew swp ¥

(1) v ge 2) t—ada
(3) WE-aT T (4) =uwd ¥ 9 wig e

A coin is tossed 3000 times. It results in Heads 1385 times. To test the
coin is unbiased, which test is used

(1) t-test (2) Normal test

(3) Chi-square test (4) F-test

Ut foereh Y 3000 ST IBIAT ST ¥ F41 1385 WU (heads) IRT ST ¥ Riyaest
ST &, 5% Ol b TN % KT HiA—uT G0 Bl GUANT B3 7
(1) e ' (2) uEERE ThHET

(3) Wt wlem 4) F—adeo

To test the hypothesis about equality of two variances of two normal
distributions. Which test is used ?

(1) Normal test (2) Chi-square test

(3) t-test ' (4) F-test

T YEHT HafE F wERe & UH GOE en R uRemewn @ TdEm o)
% T P-w wlmer @ g s ?

(1) vera gl () wE-aF gl
(3) t—uliEm (4) F-aiem
OPI9_A] 61 BRI (Contd..
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198 Which one of the following test is used as test of goodness of fit ?

(1) Normal test (2) Chi-square test

(3) t-test (4) F-test

T g & R PeAfeted ¥ @-w olan wge B ¥
(1) wE wlEm (2) W=t e

(G) t-aAE (4) F-udiEmo

199 A critical region provides basis for
(1) aceepting Hg
(2) rejecting Hy
(3) no decision about Hj

(4) all the above

i & ¥ H enui ] ¥

(1) H, e & @R b & ol

@) H, e w ader 5 6

G/ ) i 3 eneriar | Fo) i Redp S R
(4) SWE T

200 In the context of & (9, 02) select the simple hypothesis
(1) pn=0 (2) p=0,02=1
G) pu=006%>1 (4) n=062<1

TE Y gERe N(B,Gz)aaﬂzﬁﬁwqﬁaﬁqmgﬁﬁ

(1) n=0 (2) n=0,0%=1
B) n=00%>1 @ p=002<l
OP19_A] 62 GBI (Contd...

www.upscstudymaterials.com



www.upscstudymaterials.com

SPACE FOR ROUGH WORK / %= &/ % i 7ie

0P A & BB (Cone.-

www.upscstudymaterials.com



www.upscstudymaterials.com

SPACE FOR ROUGH WORK / = ¥ % o4 @

SNSANENENE NS

N

N

2\

OP19_A] 64 AN AU

www.upscstudymaterials.com



SET_A

ANSWER

www.upscstudymaterials.com

ACF
PAPER-STATICS(OP19)

SET_A

ANSWER

*

NN WIWw S~ |W

| |IN|OD|UL | JWI|N

*

[ER
o

[y
=

[y
N

[ERy
w

[y
'S

[ERy
(S}

[EEN
(e)}

[EEN
~N

R R INNIN]IRPIW]AIN]|AINNIWIWIW]WI|EFL]|W

[ERY
[o0]

*

[ERY
Vo]

N
o

N
=

N
N

N
w

RPN IRPINIWIR|IW]RA|RP|WIN]INN

N
N

N
N

N
(93]

N
)]

N
~

N
(o]

N
(Vo]

w
o

w
=

w
N

w
w

w
S

w
S,

w
[e)]

w
~N

w
oo

w
(Vo)

N
o

Rrlw|nv|lrlwlslralralw]lriv]wlsala]lralIn]Rls]N

Wl |RP|IWININ|IWIWIIRLIN]|R]|PDIN]|RP]P>IN]P

www.upscstudymaterials.com

08/08/2013



www.upscstudymaterials.com

91

92

93
%94
95
96
97
98
99

100

SET_A | ANSWER

151
152
153

154
155

156
157
158
159
160
161

162

183

164
165

166
167
168
169
170
171
172
173

174
175

176
177
178
179
180

41

42

43

44
45

46

47

48

49

50

SET_A | ANSWER

101
102
103

104
105

106
107
108
109

110
111
112
113

114
115

116
117
118
119

120
121
122
123

124
125

126
127
128
129

130

www.upscstudymaterials.com



131

www.upscstudymaterials.com

132

181

133

182

134

183

135

184

136

185

137

186

138

187

139

[EE IFEEN G I SR (R YR NOVH =N I

188

140

*

189

141

190

142

191

143

192

144

N|R]P>IN

193

145

*

194

146

195

147

196

148

197

149

A IN]|]WIN

198

150

1

199

NOTE : * MEAN DELETED

200

NININIPAINIR IR ININIRPIRINNIRINNIWOWIDIPP RSP

www.upscstudymaterials.com



